OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl

GHUD ] SIDQRZDQH Z VHVIL DI

3%$&,25.,( = ,&= $JDID
$/(.6$1"52 = ,&= SUHID
&,(§/% . -RDQQD
587"$:6.$ $GUDQQD
.$63(5(. -DIDIJ\QD
1,(1$a72-6.$ 1DIDID

- T-&,. 3DXID

=%52-( = 6.%$ OLFKDIQD

6.6 67$57 ayGl
2/,03,-&=<. 6XZDiNl

- $57% 3R]QDE

25/, . /XEIQ

- $57% 3R]QDE

32/21,$ -DW]DZD
3LCIQDVIND $48% %\GJIRV]F]
3,A7.$ -RQVIDQNQyZ

= CELFD
- RONXUHQFID = JHZF]al P GRZRIQ\ 0DW
/WVID VIDUIRZD
5RN XU
GHUD ]
2._%$-20zb 0.6 026 .DIRZIFH
6</ - (675=%. ,]DEHID $=6 $:)L6 *GDEWN
6HUD ]
67$68&=<_ 20D *26(5 3IDVHF]QR 17
&+0,(/ (. $QQD -25"$1 .UDNyZ
%2+"$12 = ,&= OLFKDIQD &6l5 026 "gEURZD *yUQIF]D
T(/(&+2:6.$0DUD T2/,%25= = DIWV]DZD
%$1$&+ SIHNVDQGUD -25"$1 .UDNyZ
2217232 :6.%$ $QlD 2/,03,-&=<. 6XZDiNl
/(-$1"2:-6.% 3DXIQD 62 81,$ 2GZICFLP
.,(& 0ODJGD T2/,%25= = DIV]DZD 17
6HUD ]
2/,66.% z INIRUD 32/21,% zDW]DZD
-$1,$ ODUNQD 32/21(= z\VI\yZ
-$0,e6 . $ $HNVDQGUD 25/,. /XEIQ
1 <"5<6=(. .1QJD 32/21,$ - DW]DZD
01,&+ 201PSID $=6 $ ) 3R]QDE
%8&+%$/6 . $ 3DI\FID 25=(a (ElaJ
1,0,(52:,&=$QQD -89(1,$ %DAVIRN
0,526a$:- .(DD 25/,. /XEIQ
6HUD ]
2532 - 6.$ $QIHIND 2/,03,-&=<. 6XZDiN. 17
%$5726=(. -RDQQD * /86 *IRZIFH
6.2:-52&6.% - HIRQIND - $57%$ 3R]QDE
0,/(=6.%$ ODUID 3,A7.% &KRUIlyZ
%$-81,$. +DQQD $6725,% %\GJIRV]F]
+$/%>*,(5% -RDQQD 6a2:,$1.% *RUlyZ =INS
0$-26 3DXIQD .2521%$ 6,0 .HFH
=$3(1"2:6.$ -DIRIQD *  %HDQ\ = DUW]DZD 17

6SIDVK OHHIi ODQDJHU %XLG

SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ

6IURQD



